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Aula passada
Postulado 1: O estado de um sistema físico num instante t0 é determinado por 
um ket do espaço de estados E:
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Postulado 2: Toda quantidade física A é descrita por um operador A que age 
em E.   A é um observável, ou seja, um operador Hermitiano cujos auto-
estados formam uma base de E.

Postulado 3: Os únicos resultados possíveis de serem obtidos em uma medida 
de A são os auto-valores do operador A.



Aula passada
Postulado 4 (Princípio da decomposição espectral): Se o estado do sistema é 
a probabilidade de se obter um determinado auto-valor de A é:
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a) Espectro de A é discreto:

b) Espectro de A é contínuo:
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Aula passada
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| iPostulado 5 (Colapso da função de onda): Se o estado do sistema é 
e, na medida de um observável A obtém-se o auto-valor an, então, 
imediatamente após a medida o estado do sistema passa a ser
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que é a projeção normalizada no auto-sub-espaço de an.
CHAPTER III THE POSTULATES OF QUANTUM MECHANICS

0

Measurement giving
the result an

t0 t1

t

ψ (t0) ψ (0) 

un ψ (t1) 

Figure 1: When a measurement at time 0 of the observable gives the result , the
state vector of the system undergoes an abrupt modification and becomes . This new
initial state then evolves.

When the eigenvalue given by the measurement is degenerate, postulate (B-28)
can be generalized as follows. If the expansion of the state immediately before the
measurement is written, with the same notation as in section B-3-b:

=
=1

(B-29)

the modification of the state vector due to the measurement is written:
( )
=

1

=1
2 =1

(B-30)

=1 is the vector defined above [formula (B-8)], that is, the projection of
onto the eigensubspace associated with . In (B-30), we normalized this vector since it
is always more convenient to use state vectors of norm 1 [comment ( ) of § B-3-b above].
With the notation of (B-10) and (B-11), we can therefore write (B-30) in the form:

( )
= (B-31)

Fifth Postulate: If the measurement of the physical quantity on the system
in the state gives the result , the state of the system immediately after the

measurement is the normalized projection, , of onto the

eigensubspace associated with .

The state of the system immediately after the measurement is therefore always
an eigenvector of with the eigenvalue . We stress the fact, however, that it is not

222



Aula passada
Postulado 6: A evolução temporal do sistema é determinada pela equação de 
Schrödinger

onde H(t) é o Hamiltoniano do sistema (geralmente sua energia total).
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Pacote de incerteza mínima
Como mostrado no complemento CIII, a função de onda que satura o 
princípio de incerteza (pacote de incerteza mímica) é uma gaussiana:
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Ela também é uma gaussiana no espaço de Fourier:
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